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● Parameters from a 0.6 m process

– From AMI Semiconductor

– tox = 100 Å

–   = 350 cm2/V*s  (mobility for n type mosfets)

– Vt = 0.7 V for n-mosfets and  - 0.7V for p-mosfets
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Assume design is being done with the 0.6 um process cited below
and assume the following information: 

Homework # 2.  See problems on the next page.  Use the information below.



  

Problem 1.  Find drain current I 

Problem 1 circuit.

Problem 2 circuit.

Problem 2.  Find drain current I

Problem 3.  Find drain current I

Problem 3 circuit
For credit, show your work
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